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11 Factorise completely. 

 p
2

x – 4q
2

x 

 

 

 

 

 

 

 Answer   [3] 

 

 

 

12 Alberto changes 800 Argentine pesos (ARS) into dollars ($) when the rate is $1 = 3.8235 ARS. 

 He spends $150 and changes the remaining dollars back into pesos when the rate is  

$1 = 3.8025 ARS. 

 

 Calculate the amount Alberto now has in pesos. 

 

 

 

 

 

 

 

 

 

 

 

 

 Answer  ARS [3] 

 

 

 

13 During a marathon race an athlete loses 2 % of his mass. 

 At the end of the race his mass is 67.13 kg. 
 

 Calculate his mass before the race. 

 

 

 

 

 

 

 

 

 

 

 Answer  kg [3] 
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10 Shania invests $750 at a rate of 2
2

1

% per year simple interest. 

 Calculate the total amount Shania has after 5 years. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 Answer $   [3] 

 

 

 

11 Solve the simultaneous equations. 

 3x + 5y = 24 

   x + 7y = 56 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Answer x =    

y =   [3] 
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1  

B

C D E

A

120°

82°

73°

x°

NOT TO
SCALE

 

 

 The diagram shows a quadrilateral ABCD. 

 CDE is a straight line. 

 

 Calculate the value of x. 

 

 

 

 

 Answer x =   [2] 

 

 

 

2 Hans invests $750 for 8 years at a rate of 2% per year simple interest. 

 

 Calculate the interest Hans receives. 

 

 

 

 

 

 Answer $   [2] 

 

 

 

3 (a) Calculate 
3 0.91.5

22  7 +  and write down your full calculator display. 

 

 

 

 Answer(a)   [1] 

 

 (b) Write your answer to part (a) correct to 4 significant figures. 

 

 

 

 Answer(b)   [1] 
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2 Aminata buys a business costing $23 000. 
 

 (a) She pays part of this cost with $12 000 of her own money. 

 

 Calculate what percentage of the $23 000 this is. 
 

 

 Answer(a)  % [1] 

 

 (b) Aminata’s brother gives her 32% of the remaining $11 000. 
 

 Show that $7 480 is still needed to buy the business. 
 

 Answer(b) 

 

 

 

 

 [2]

 (c) Aminata borrows the $7 480 at a rate of 3.5 % per year compound interest. 

 

 Calculate how much money she owes at the end of 3 years. 

 

 

 

 

 

 Answer(c) $   [3] 

 

 (d) In the first year Aminata spent $11 000 on salaries, equipment and expenses. 

 

5

2

 of this money was spent on salaries, 0.45 of this money was spent on equipment and the 

remainder was for expenses. 

 

 Calculate how much of the $11 000 was spent on 
 

 (i) salaries, 

 

 Answer(d)(i) $   [1] 

 

 (ii) equipment, 

 

 Answer(d)(ii) $   [1] 

 

 (iii) expenses. 

 

 Answer(d)(iii) $   [1] 

 

 (e) The three items in part (d) are in the ratio salaries : equipment : expenses = 0.4 : 0.45 : 0.15 . 
 

 Write this ratio in its simplest form. 

 

 Answer(e)  :  :   [2] 
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10 The periodic time, T, of a pendulum varies directly as the square root of its length, l. 

 T = 6 when l = 9. 

 

 Find T when l = 25. 

 

 

 

 

 

 

 

 

 

 

 

 

 Answer T =   [3] 

 

 

 

11 Boris invests $280 for 2 years at a rate of 3% per year compound interest. 

 

 Calculate the interest Boris receives at the end of the 2 years. 

 Give your answer correct to 2 decimal places. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 Answer $   [4] 
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2 (a) In a sale, Jen buys a laptop for $351.55. 

 This price is 21% less than the price before the sale. 

 

 Calculate the price before the sale. 

 

 

 

 

 

 

 

 

 

 

 

 Answer(a) $   [3] 

 

 

 (b) Alex invests $4000 at a rate of 8% per year simple interest for 2 years. 

 Bob invests $4000 at a rate of 7.5% per year compound interest for 2 years. 

 

 Who receives more interest and by how much? 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 Answer(b)  receives $  more interest. [6] 
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4 (a) In a café the price of an adult’s meal is $24 and the price of a child’s meal is $16. 

 A 12% service charge is added to the costs of the meals. 

 

 Calculate the total cost of meals for 2 adults and 3 children. 

 

 

 

 

 

 

 Answer(a) $   [3] 

 

 

 (b) On a Saturday night the adult meal price of $24 is increased by 20%. 

 

 Calculate the increased price of this meal. 

 

 

 

 

 

 

 Answer(b) $   [2] 

 

 

 (c) The price of a large cup of coffee increases from $3.00 to $3.42 . 
 

 Calculate the percentage increase in the price. 

 

 

 

 

 

 

 

 

 Answer(c)  % [3] 

 

 

 

4 

© UCLES 2012 0580/21/O/N/12  

For 

Examiner's 

Use 

7 The train fare from Bangkok to Chiang Mai is 768 baht. 

 The exchange rate is £1 = 48 baht. 

 

 Calculate the train fare in pounds (£). 

 

 

 

 

 

 

 Answer £   [2] 

 

 

 

8 Acri invested $500 for 3 years at a rate of 2.8% per year compound interest. 

 

 Calculate the final amount he has after 3 years. 

 

 

 

 

 

 

 

 

 

 

 

 Answer $   [3] 

 

 

 

9 Solve the inequality. 

35

32 xx

−

−

 Y=2 

 

 

 

 

 

 

 

 

 

 

 

 

 

 Answer   [3] 
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 The diagram shows two of the exterior angles of a regular polygon with n sides. 

 Calculate n. 

 

 

 

 

 

 

 

 Answer n =   [2] 

 

 

5 The Tiger Sky Tower in Singapore has a viewing capsule which holds 72 people. 

 This number is 75% of the population of Singapore when it was founded in 1819. 

 What was the population of Singapore in 1819? 

 

 

 

 

 

 

 Answer   [2] 

 

 

6 In a traffic survey of 125 cars the number of people in each car was recorded. 

 

Number of people in each car 1 2 3 4 5 

Frequency 50 40 10 20 5 

 

 Find 

 

 (a) the range, 

 

 Answer(a)   [1] 

 

 (b) the median, 

 

 

 

 Answer(b)   [1] 

 

 (c) the mode. 

 

 Answer(c)   [1] 
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5 Maria pays $84 rent. 

 The rent is increased by 5%. 

 

 Calculate Maria’s new rent. 

 

 

 

 

 

 

 Answer $   [2] 

 

 

 

6  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 Using a straight edge and compasses only, construct the locus of points which are equidistant from 

R and from T. [2] 

 

 

 

7 Find the value of 

10.9511.8

7.2

−

. 

 

 Give your answer correct to 4 significant figures. 

 

 

 

 

 Answer   [2] 

 

 

 

8 A carton contains 250 ml of juice, correct to the nearest millilitre. 

 

 Complete the statement about the amount of juice,  j ml, in the carton. 

 

 

 

 Answer  
Y j I   [2] 

 

T

R


